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[ Level-3/1318]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a

psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations

4) Conventional thoughts

P.T.O.
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[ Level-3/1318 ]

Which of the following characteristics
does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative 2) Diagnostic
3) Remedial 4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF
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8. Q_’@ g @ ¥ 9 JeR % qRaad 8. Which type of changes occur in

Aq g ? growth and development ?

(@) X & TR H 9Raaq (@) Change in body size

(b) SRR & U H IR (b) Change in body proportion
(c) YUH Tl &l faeiia (c) Disappearance of old features
(d) A faQarett 1 AR (d) Acquisition of new features
@&l R B TI HIOTC : Choose the correct code :

g - Code :

) (@), (®) W@ () 1) (@), () & (c)

2) (), () W@ (@) 2) (a),(b) & (9

3) (a),(c) @ (@ 3) (a),(c) & (d)

4) (@), ®), (c) @ (d) 4) (a), (b), (c) & (d)

9. Ffafad & | HH-A1 HIF AEREN 9. Which of the following statements

& ARH W HHRIHS TG W< 78] does not explain the positive

Y 7 impact of motivation on learning ?

1) SIERET diEw & Faer @l & 1) Motivation impairs learning
F & behaviour

2) RO HiEM @ FaeR @l 2) Motivation provide definite
ffeea Ry #H B direction to learning behaviour

3) AMEROT e & FA@RR | 3) Motivation energizes learning
qfkaar AN © behaviour

4) TN HEeW & FGRR B 4) Motivation makes learning
CERICACEIRIE behaviour selective

[ Level-3/1318] P.T.O.
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4) 9 g B qERAG 9 geiaa T
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[ Level-3/1318 ]
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10. Match the stages of morality with

11.

12.

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ M © @@
) 1 111 II I
2) III II 111 I
3) II 111 I II
4) 1I I 111 111

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual
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@pﬁb-&l}
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T
T
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[ Level-3/1318]

13.

14.

15.
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Which of the following
examinations are the basis of

continuous and comprehensive
evaluation ?
(a) Written (b) Oral

(c) Behavioural (d) Practical
Choose the correct code :
Code :

1) (a),®) & (d)

2) (@), () & (o)

3) (@, (c) & (d)

4) (@), (), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) llliterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,

under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

2) Cognition Operation

3) Evaluation Operation

4) Relations Content
P.T.O.
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[ Level-3/1318 ]
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Which one of the following is not a
key feature of child centred
learning approach ?
1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?

1) Adaptation
2) Self-observation
3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Stermberg Triarchic Theory ?

1) Meta component
2) Experimental component
3) Performance component

4) Knowledge acquisition component
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[ Level-3/1318]
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A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :
1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect

learning ?
1) Simultaneous 2) Delay
3) Trace 4) Backward

In which stage of Piaget's Cognitive
Development theory does the
ability of abstract thinking and
generalization develop ?

1) Sensory motor

2) Pre-operational

3) Concrete-operational
4) Formal operational

P.T.O.
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[ Level-3/1318 ]
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26.
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Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching
4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation

2) Principle of cooperation

3) Principle of celebrating diversity
4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students

2) Individualized instruction

3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services
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Which of the following statement is
not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of
the inclusive education

propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) S S 2) Me 1) JohnDewey 2) GCarret
3) aR=a 4) &WH 3) Soremson 4) Hurlock
[ Level-3/1318] P.T.O.
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ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R

[ Level-3/1318]
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[14/A]

Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

GET IT ON
Google Play

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1318 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :
He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have

2) hashad

3) have had

4) had had
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53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

[15/A]

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1318]
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AW — Il / PART = Il

YW A9 / GENERAL STUDIES
TR AT, b SIS qUT TS 9 U4 SRR / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

GET IT ON
Google Play

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 99 IR Ja7 f&am
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

Teh 1 20 fRHl g0 €T &l fasm
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

td 8 FfFT SiUh Yed & EfE 3
g 37 aWt B 9 feell @& off @
Ted &, Ol 399 4 fhdd g el g
TS 2N A Yod B 7
1) 0 2) 3
3) 4 4) 5

[ Level-3/1318 ]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

64.

65.

66.

61.

68.

= |V

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) od 2) 10df
3) 114 4) 12df

Teh %= e A § 'CEG' &l ‘TSR’
qoT 'FHJ' & 'QPO' fevam om B, &
gl W Wi # IKM' & fom
SR

1) NOP
3) NMK

2) NOL
4) NML

e EAML § fee dfs /= s
SIRC

1) 1 2) 2

3 3 4 4

U R SgYS § SR IOl Ud
9@ B H AT 7:2 B, q 39
TGS I TS B HEA ©

1) 7T 2) 8

3 9 4) 11

el ST @l & T 9
BIRECTIE L
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

[ Level-3/1318]

64.

65.

66.

61.

68.

GET IT ON
Google Play

[17/A]

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly
between these two. What is A's
position from C ?
1) 9th 2)

3) 1lth 4)

10th
12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1 2) 2
3) 3 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11

Find the next term of the following
number series :

2, 3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

P.T.O.
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[18/A]

69. 7T A NI % % &l Tha 8 g2 ¥,
T B T 41 o% P A 6 g H
I o Hhal 21 IR QT A B T
Y 2 g9¢ & U @iem & U9E T
A P F< FK A Y, A 7@ B W
ST & e AT T ?
1) 292§ 2) 2% gue H
3) 3y {  4) 3% gUe H

70. 3R fedt fdea Yo & 38 « 15 = 32,
62 %91 =7 qUT 74 81 =29 &, a
I Yod H 47+ 33 HT 9 B -

1) 40
3) 38

2) 41
4) 53

71. I 17 fRE=R, 2002 @ AqFER o,
o 22 RE=R, 2004 @ H=-d1 &

qr ?
1) aar 2) ER
3) TWER 4) HIEEAR

72. o) F SFET T
Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8IN
3) R88P 4) R88M

73. ST guimr #, & T APmF o
SN STel & HeY Blg U P&

e uh ¥ FH o 9wl g,
frfafag aftmt § fm-9 39w
T I B B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

[ Level-3/1318 ]

69.

10.

11.

12.

13.

GET IT ON
Google Play

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 % 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday

3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of

letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU
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14,

15.

16.

11.

18.

= |V

x-&, y-& T 4x+3y =12 &N
Fftfa Brgst & awrEa @ B @

1) 2 &8 2) 2.5 3B
3) 3 THE 4) 4 B

I8 999 BId & A Hio, o
15463 ¥ g WX 9T IFT%S 107 §
a8 S @

1) 52
3) 71

gl ® g H fhE oTgu H TRy
ST ST 6 gT O b T g W
o T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

2) 58
4) 16

us iYEd Ui &1 4% affie W ®
2 a9 % foU wHdfE & @ A
& & I ©

1) 52:51 2) 52:50

3) 51:50 4) 53:50

QﬁA,BHﬂTCﬁZ:é:E ®
235

A F TN B TH AR A
T 4 W16 Uy A N ST G
50% o1 faam 3 af & o F
21,600 YUY FH TN AT &, @ W

A9 H ABEH RE R
1) 2,400 TG 2) 3,600 TW
3) 4,000 54 4) 4,200 TII

[ Level-3/1318]

14.

15.

16.

11.

18.

GET IT ON
Google Play

[19/A]

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:8 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

years is:
1) 52:51 2) 52:50
3) 51:50 4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

z : 4 : 6 After
2 3 58

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the

profitis:

4 months, A

1) Rs.2,400 2) Rs. 3,600
3) Rs.4,000 4) Rs.4,200
P.T.O.
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[20/A]

79. TF JAEH 20% BN W Th 98]
SO @, A I I W 12 FW@
HARE H =, @ 3IH 10% H AW
BTl 3 a%g H HY YA ©

1) 22 @ 2) 30 W
3) 36 T 4) 40 TW
80. a*+a* 1-a”
a ta” 1l7a " memy
l-a 1++a
a a—-1
1) 2 2) -
) a—-1 ) 2
2 2
3) 4y 2
) a—-1 ) l1-a

81. Ui Ma G oared ¢ :

1) o R
2) FHoee o

3) IR ot &
4) Gee o |

82. ¥ ERAMI ST, 2023 ¥ HANC
US[d &l Bele fhar ?
1) o9 fqeeg
2) e fasE
3) I e
4) e

83. =T & F=fed Tod@ H A
P T & T SRR ?
1) =t R
2) 4 JIwR g S
3) 48R M= R
4) & gL e guariern
[ Level-3/1318]

19.

80.

8l1.

82.

83.

GET IT ON
Google Play

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30

3) Rs. 36 4) Rs. 40

Va V2

+l—a
1+\/§

2)

Vo | -
a’+a .
is equal to :

l-a
e

1) I

a

[S

a-1

2
3) 4) i
l1-a

[}
|
—

Historical village Sugh is located
in:

1) Ambala district

2) Kurukshetra district
3) Yamunanagar district
4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3/1318]

84.

85.

86.

81.

GET IT ON
Google Play

[21/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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[22/A]

88. aRIm ¥ RiwRr U= B FE Red

g7
1) fiER 2) U
3) =N 4) g

89. BRI Y TWedrl HW TE AHT
ferpre 1S o &l e &9 g8 ?

1) S¥adl, 1967
2) TR, 1966
3) A, 1980

4) SE{l, 1996

90. sfamm ¥ aRd™ SrEnfiEn

G el Rea © ?

1) HHEId
2) UNgd
3) Tl
4) HBHEA

88.

89.

90.

GET IT ON
Google Play

In Haryana, where the Chinkara
Breeding Centre is located ?

1) Pinjore 2) Panipat
3) Jhajjar 4) Bhiwani
When the Haryana State Co-

operative Agriculture and Rural

Development Board Ltd. was

established ?

1) January, 1967

2) November, 1966
3) March, 1980

4) January, 1996

Where in Haryana, the Indian
Institute of Information Technology
islocated ?

1) Sonipat
2) Panipat
3) Ambala
4) Kurukshetra

[ Level-3/1318]
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AT -1V / PART - IV
g / MATHEMATICS

GET IT ON
Google Play

[23/A]

fraer : fefafad gl & SR 39 & e @98 S faskea g

Direction : Answer the following questions by selecting the most appropriate option.

91. T x%-(a-2)x-a-1=0 &
Tl ® & gAaH 8, d a @ AN
2

1) 0
2) -1
3) 2
4 1

92. ilanzy—_I:Z;Z 7 {3 (1, 6, 3)

Eb‘rEri%lﬁ‘Tslz%:
1) (1,1,7)
2) (0,1,7)
3) (1,0,7)

4 (1,7,0)

91.

92.

The value of 'a' such that the sum
of the squares of the roots of
the equation XZ—(a—Z)X—a—I:O
assumes least value, is :

1) O

2) -1

3) 2

4) 1

The image of the point (1, 6, 3) in

the line £=y—_1= z-2
1 2 3

is:

) (1,1,7)

2) 0,1,7)

3) (1,0,7)

4 (1,7,0)

% & % oW e / Space For Rough Work

[ Level-3/1318]

P.T.O.
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[24/A]

93. ﬁ%ﬁx=Ly:LX:&y=4mﬂ 93. The area enclosed between the
N Od B I Fh yi=4x AR curves y2 =4x and x2 =4y inside
XZ:4y 3 I B A5 P ATwd thf squafe forriled.bythehnesx=1,

y=l,x=4,y=4is:
g
11
1) A 1) 1%
8
8
2) /é 2) /é
16
16
3) /é 3) /é
13
13
4) /é 4) /é
94. I Uy &Y H TH B GHIBLON 94. If a function is represented
1+¢ 3 2 parametrically by the equations
:t_s,yzﬁ—i_? S Gg9d a, 1+t 3 2 .
X——S,y——z+7,then.
a t at
2
2
1) X.EZ :1+EZ 1) X[gZJ :1+§Z
dx dx dx dx
3
2 X[d_rj 4 2) X(de 1Y
dx dx dx dx
3 3
3) dy _ +d_y 3) [d_yJ 4 +d_y‘
dx dx dx dx
3 3
dy dy [dyj dy
4 =~ | =14+x—2 4) x|—| =l+x—
) X(dxj .+de ) dx dx

% & % oW e / Space For Rough Work

[ Level-3/1318]
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95

96.

. HIAT 5=2f+}+12, B=f+2f+12 AR

c=2{-3j+4k,T% AR r, rxb=
cxb Tl r.a= 0 F TYE BT Bl
A r=

1) —2i+2j+2k

2) -2i+j+3k

38) -2i—-j+5k

4) [-5j+3k

09 UEEE § 0N OB ofEsd &N
Tifew| qrEaE ¥ 0 § 9 T% Hls Th
(F12T) 3R T MR B (BeT) diaet
BNl =ifeul 3 UK fhad e
qreas €99 § 7

1) 6760
2) 13520
3) 40560
4) 105456

95.

96.

GET IT ON
Google Play

[25/A]

Let 5=2f+}+13 ) B=f+2j+]€ and
c=2] —3]A'+41€. A vectorr satisfying

rxb =cxb and r.a=0is:

1) —2i+2j+2k
2) -2i+j+3k
38) -2i—j+5k

4) [-5j+3k

An e-mail password must contain
three characters. The password has
to contain one numeral from O to 9,
one upper case and one lower case
character from the English alphabet.
How many distinct passwords are
possible ?

1) 6760

2) 13520

3) 40560

4) 105456

% & % oW e / Space For Rough Work

[ Level-3/1318]

P.T.O.
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[26/A]

97. g (1,2, 3) A X;GJZ_T:Z__ZY

W W T T Hl T=E S -

1) 5 &R
2) T 3HE
3) 4 THE
4) 3 IHE

98. TF TEIUE 9F H HaE 8.4 AW ©
AR & AR H B 2.1 & B
59 ey g T e S feEr
ST 81 Mo b B §

1) 2.3 94
2) 2.5 W
3) 2.1 94
4) 2.7 IW

GET IT ON
Google Play

97. The length of perpendicular from
the point (1, 2, 3) to the line

98.

x—6 _ y-1 _ z-1 is

3 2

1) 5 units

2) 7 units

3) 4 units

4) 3 units

A right circular cone is of height

8.4 cm and the radius of its base is

2.1 cm. It is melted and recast into

a sphere. The radius of the sphere

is:

1) 23cm
2) 2.5cm
3) 2.1cm
4) 2.7cm

% & % oW e / Space For Rough Work

[ Level-3/1318]
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99.

100.

101.

BT ABC @l 4oTiafi AB @1 AC W

FAGER &g P T fag Q Re B
g AP = 3 94, PB = 6 @1l, AQ =

58 X QCc =10@H &, @ :
1) BC=2PQ 2) BC=3PQ
3) BC=4PQ 4) BC=5PQ

100
e 349(X+iy):(g+£i] R

2
x=ky &, @ k& I9 8 :
1
D -5 2) /3
1
3) —+/3 4 ——
) -3 ) N

TH B A 100 B T Th Gl §
STH | 50 BF M F ST & M,
45 BA o fEE § ot & M
&R 40 B difel § Tl 8 T,
AR 32 BF 3 o9 fawdt & & 3% &
fowal ® orgeiel & M A i §
dad Teh B & I gem e fewE

¥ STl BRI @ G ©
1) 12 2) 4
3) 2 4) 5

99.

100.

101.

GET IT ON
Google Play

[27/A]

P and Q are paints on sides AB and
AC respectively of A ABC. If AP =
3cm, PB=6cm, AQ =5 cm and
QC =10 cm, then:

1) BC=2PQ 2) BC=3PQ

3) BC=4PQ 4) BC=5PQ

100
It 3%¥x+ip)= §+£i and
2 2
x=ky,thenkis:
y -1 2) 3
3

1
3) -3 4

J3

There are 100 students in a class.
In an examination, 80 students of
them failed in mathematics, 45
failed in physics and 40 failed in
statistics, and 32 failed in exactly
two of these three subjects. Only
one student passed in all the three
subjects. The number of students
failing all the three subjects is:

) 12 2) 4

3) 2 4) 5
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102. IR x=328 &R y=3%27 @, @
x+y—m H AM B
1) 2
2) 6
3) B
4 1

103.

TN T U6 deHl qrEr Bl 21 AR
39 5 1 6 e B, O a€ T R @
a9 IR I\ & IR R (Head) &
T A FAN e AR IT 1, 2, 3 4
e &, @ 98 U AR & Ry et
% IR e O & & g (Head) o
% O 9 (Tail)l 3R 39 &% & R
o g, A IHH N A ©
IO 9E Y 1,2,3 1 4 Bl ¢

1) 1124

2) %
3) %
9 8

102.

103.

GET IT ON
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If x=%28 and y =321, then the

1

valueof x +y —————— is:
x“+xy+y

1)
2)

a o D

3)
4)

—

Suppose a girl throws a die. If she
gets 5 or 6, she tosses a coin three
times and notes the number of
heads. If she gets 1, 2, 3, or 4, she
tosses a coin once and notes
whether a head or tail is obtained.
If she obtained exactly one head,
what is the probability that she
threw 1, 2, 3, or 4 with the die ?

D
2) 2,
3 Y
9 )

% & % oW e / Space For Rough Work
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104.

105.

106.

. 2 .
ETSE| f(x):%’:;l]), STel [.]

WWW%WW%

1) [0, 1]
3) [-1,1]

2) {0}
4) {0, 1}

TH 5 a9 B & g9 @ Siar PQ
Hl W 8 Al 2| W N b {4g P
T Q W il T WY W &g T
T foedT B &1 TP P T 9. © ¢

1) %@tﬁ 2) %@tﬁ

3) S ¥ 4) 2—;@111

3

Th & h 6y = x° + 2 & IR T
A 81 T W fgel @ den fw
W y-Fesid xfEgie | o A
T @B

1)
2)

N W s

3)

—

4)

104.

105.

106.

GET IT ON
Google Play

[29/A]

The range of the function

sin(n[x2 +1])
x4l

greatest integer function, is :
1) [0,1] 2) {0}
3) [-1,1] 4) {0, 1}

f(x)= , where [.] is

PQ is a chord of length 8 cm of a
circle of radius 5 cm. The tangents
at P and Q of the circle intersect at
a point T. The length of TP is :

1) 18 cm 2) 4 cm
3 3

3) S cm 4) 20 cm
3 3

A particle moves along the curve
6y = x° + 2. The number of points
which the
y-co-ordinate is changing eight

on the curve at

times the x-co-ordinate is :
1) 4
2) 3
3) 2
4) 1
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1 1
107. I/écosxloge(lijijdX:= 107. j/écosxloge(lijijdX:=
ﬂé 1-x ﬂé 1-x
1) 4 1) 4
2) 0 2) 0
3) 2 3) 2
4) = 4\ =
108. Tig j 1, dx = tan(£+ pj—i—c, 108. If j 1. dx = tan(£+ pj—i—c,
1+sinx 2 1+sinx 2
ar p = thenp =
T T
ad 1y =
1) L ) 1
T T
Bid 2) =
2) > ) 2
T T
2 3) -=
3) > ) 2
T T
ad 4) —-=
4) L ) 1
109. & g e FaE 2 Hex I weaw 109. If h is the height of a right circular
MG il ol ﬂ?ﬁ'q 31359 H SR cone of greatest volume of given
g h &, @ h= slant height 2 m, then h is equal to :
2 2 2 2
1) =4 2) ——d 1) —m 2) —=m
NG N NG N
3) V32 @ 4 2/21 3) ¥3V2m 4 2/2m
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[ Level-3/1318]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

110. (xz+§J15%i%|'{ﬂRﬁX15 % T
H x Q@ WA @ (i xR @)
I Y &
1) 12:32
2) 1:32
3) 32:12
4) 32:1

111. IR R q R & @ & f(x) X g(x)
H UBR gl § & (fog)x) =
E-2+2)° (1) g() TR T :
1) 8
2) 16
3) 12
4) 24

1 1
112, [x+(x3-D2P +[x—(x3-12]° @
feR s @ge &, FEs 9@

(degree) g
1) 5 2) 6
3) 7 4) 8

GET IT ON
Google Play

[31/A]

110. The ratio of the coefficient of x'° to

111.

112.

the term independent of x in the
15
expansion of (XZ +—j is:
X
1) 12:32
2) 1:32
3) 32:12
4) 32:1

If f(x) and g(x) are two functions
from R to R such that (fog)(x) =
(2 —x*+2)°, then f'(1) g'(1) is :

1) 8

2) 16

3) 12

4) 24
1

The expansion [x+(x3-1)2T°+

1

[x—(x3-1)2]° is a polynomial of

degree :

1) 5

3) 1

2) 6
4) 8

% & % oW e / Space For Rough Work
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113. TF =R G & T9H 8 T H
I 42 B 39 103 U% &R 303 U
P AU 1:3 B I FORK 4G W

1397 92 ® :
1) 62 2) 26
3) 28 4) 82

114. §9==d 4 = {1, 2, 3} § T% =9 R,
aRb I |a° - b’| < B, &N RN
g ffafeg & 9 F-a1 o7gT ® ?
1) R={1,1),@ 2), 3 3), @2 1),

(1, 2), (2, 3), (3, 2)}

2) R'=R
3) R & U ={1,2,3}
4) R % URET ={5}

115. 3T i1 e
2x+3y =1
Pt+x+(@p-qgy=21
% o= B B, ol :

1) p=58,g=1
2) p=1,g=5
3) p=2,g=2
4) p=0,g=3

113.

114.

115.

GET IT ON
Google Play

The sum of first six terms of an
arithmetic progression is 42. The
ratio of its 10th term to its 30th
term is 1 : 3. The thirteenth term of
the arithmetic progression is :

1) 62 2) 26
3) 28 4) 82

The relation R defined in A ={1, 2, 3}

by aRb, if |a° — b’| < B, which of

the following is not true ?

1) R={(,1), (@2, 2), 3, 3, 1),
1,2), 2, 3), 3, 2)}

2) R'=R

3) Domainof R ={1, 2, 3}

4) Range of R = {5}

If the system of equations

2x+3y =1
P+tgx+(@p-qy=21

has infinitely many solutions, then :
1) p=5,g=1

2) p=1,g=5

3) p=2,g=2

4) p=0,g=3

% & % oW e / Space For Rough Work
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116. IR faeara dHietoT 2X2+pX—15=0
H TH g -5 B AR fZEE qHem
p(x*+x)+k=0 & & THH &, @
k& A9

1) 7
2) 4

3)%
4)%

117. T B &1 TF 9@ HOT 108° & 8
AN 3Ed oAARE @ BN B
YA 4:5 &1 BT & & E ¢

1) 48°,60° 72°
2) 50°,60° 70°
3) 52°,56°, 12°

4) 42°,60°, 76°

116.

1117.

GET IT ON
Google Play

[33/A]

If -5 is a root of the quadratic
equation 2x% + px—-15=0and the
quadratic equation p(x2 +x)+k=0
has equal roots, then the value of k
is:

1) 7
2) 4

3)%
4)%

An exterior angle of a triangle is
108° and its interior opposite
angles are in the ratio 4 : 5. The
angles of the triangle are :

1) 48°,60° 72°

2) 50°,60° 70°

3) 52°,56° 712°

4) 42°,60°, 76°

% & % oW e / Space For Rough Work
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118. IR fre deq @ witgw A R
g% B T I(B - A) = 6Q H

i 0-30 | 30-60 | 60-90 | 90-120
EISUE

JgR | 4 5 7 4

1) 6
2) 17
3) 9
4) 8

119. AR TFIRE 6x* +8x° +17x% +21x +7
B TH AY TEEE Ox’+4x+1 H
fowfor fpar omar B, @ Qe
ax+b ST &, A a?+b%=

1) 3
2) B
3) 9
4)

—

118.

119.

GET IT ON
Google Play

If the median A and mode B of the
following distribution satisfy the
relation 7(B — A) = 6Q, then the
value of Qis:

Class 0-30 | 30-60 | 60-90 | 90-120
Interval
Frequency | 4 5 7 4
1) 6
2) 1
3) 9
4) 8
If the polynomial

6x*+8x2 +17x% +21x +7 is divided
by another polynomial 3x% +4x +1,
the remainder comes out to be

ax +b, then a’+b? =
1) 3
2) 5
3) 9
4) 1

% & % oW e / Space For Rough Work
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120. B3 ABC &1 Wifemdd G W ufrede
X B AR’ A ABC o 5% = 27 I
g, @ ABGC &l 899 =

1) 9aw’
2) 6au’
3) 1289
4) 189’
121. %N f(x)=xe °F :
1) R ¥ gfue &
2) R% aawe ®
1) ~
3) (—m,g)ﬁasiﬂrm%

4) (_W’%j ¥ e ¥

122.

4)%

120.

121.

122.

GET IT ON
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[35/A]

Medians of A ABC intersect at G. If
area of A ABC = 27 cmz, then area
of ABGC =

1) 9cm’

2) 6cm’

3) 12cm’

4) 18cm’

The function f(x)=xe > :

1) IncreasesonR

2) DecreasesonR

3) Increasesin (— oo, %)

4) Decreasesin (— oo, %)

Area of the region bounded by the
curves y = %2, y =x+2 and the x-

axisis:
5
2) A

4)%

1) 43
5

3)A

% & % oW e / Space For Rough Work
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[36/A]
123. I FHRON % ™ 123. If the trivial solution is the only
solution of the system of equations :
x—-ky+z=0 x—-ky+z=0
kx+3y-kz=0 kx+3y—kz=0
3x+y-z=0 3x+y-z=0
H % (Trivial) &7 & UH HF Then, the set of all values of k is :
B B, @ k & Gf qE & g
g
1) {2,-3} 1) {2,-3}
2) R-{2,-3} 2) R-{2,-3}
3) R-{2,3) 3) R-{2,3)
4) {2,3} 4) {2,3}
124. IR Ay, A |A| =6, |2(adj A)| = 124. If Ay ,and |A| =6, then |2(adjA)| =
1) 48 1) 48
2) 8 2) 8
3) 288 3) 288
4) 12 4) 12
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125. A ABC % 9ISt A, B oiR C & fRefy
QAT HAAR 1 - -3k, 21+ ) -2k
X -5i+2j-6k Bl /BAC &
g% AD B, 5@ D, 3@E'E BC W
feorg B AD 1 @S R

[

y 2

2

w
A
[SS I N

4)—

126. R | log. x

(1+log, x)2 - (1+log, x)

W fx) =
1) x
2) —x
3) x*
4) —x?

125.

126.

GET IT ON
Google Play

[37/A]

The position vectors of the
vertices A, B and C of A ABC are
respectively i-j-3k, 2i+)-2k
and —5i+2j-6k . The length of
the bisector AD of Z BAC, where D
is on the line segment BC, is :

15

1)?

It J~ log, x _ f(x) N
(1+log, X) (1+loge Xx)
then f(x) =

1) x
2) —x
3) x*
4) —x*

% & % oW e / Space For Rough Work
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121.

128.

129.

3% 2, 3, 4, 5 F TH G AF IX I

el gt GEett & AT R
1) 93324 2) 93328
3) 92324 4) 92328

IS FHBT #° + ax + sin! (x* - 4x + 5)
+cos! (X —4x+5) =0 H &9 4
A TF & o, ol 'a' H AW ©

1) +2n 2) -2+
T T
3 -2-, H -

T HaM RS TS & R
T fma s e 25 e @ik
10 HiX § ol SR eI 14
Hex ol 13 WeX 31 ¥eH #1 aFnd
£

1) 84y’

2) 100 %

3) 196"

4 11247

121.

128.

129.

GET IT ON
Google Play

The sum of all numbers that can be
formed with the digits 2, 3, 4, 5

taken all at a time, is equal to :

1) 93324 2) 93328

3) 92324 4) 92328

The value of 'a' for which x* + ax +
sin” (x* - 4x + B) + cos™ (¥* - 4x +
5) = 0 has at least one solution, is :

1) +2n 2) -2+
T T
3 -2-, 9 -

A field in the shape of a trapezium
whose parallel sides are 25 m and
10 m. The non-parallel sides are
14 m and 13 m. The area of the
field is :

1) 84m?

2) 100 m?

3) 196 m?

4) 112 m?

% & % oW e / Space For Rough Work
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131.

132.

. a9 e g U9 % 91y %%
a1 AN 9E B W B T
e did Wil X fagEl @ ge
T B @l WiehdT &

1 1
T 2 12
1 1
3) = 4) "
sin 55° cotl°cot2°cot 3°...... cot90°
cos 35° 1+2+3+...... +90
&H AN B
1) -1 2) 1
3) 0 4) gRwNg & &

T B Sl Th GAMR Sgds
HER ©F & & IR BT A geN
26 G, 28 T X 30 | &, &
AR g9, BIgs & e 28
T W @l B, A FHFR AgYs

P HAE B

1) 1094
3) 794

2) 8dH
4) 1239

130.

131.

132.

GET IT ON
Google Play

[39/A]

Three fair cubical dice are thrown
simultaneously. The probability
that all three dice have the same
number of dots on the faces showing

up is:
1 1
) — 2) —
) 108 ) 72
1 1
3 — 4 —
) 36 ) 54
The value of
sin55° cotl°cot2°cot3°...... cot90°
cos 35° 1+2+3+...... +90
is:
1) -1 2) 1
3) 0 4) notdefined

A triangle and a parallelogram
have the same base and the same
area. If the sides of the triangles
are 26 cm, 28 cm and 30 cm and
the parallelogram stands on the
base 28 cm, then the height of the
parallelogramis :

1) 10cm 2) 8cm
3) Tcm 4) 12cm

% & % oW e / Space For Rough Work
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133. A a, b 3R ¢ 30 THR &7 Pl §
ﬁsgﬁ@guﬁzs%wﬁa,baﬁ?c

T 931 & 8 &R a, b T ¢ &
E|3ra2—i-a—14

U 71T b + 2 &,
a+l

1 A B
1) 6
2) 4
3) 1
4) 3
134. Th I oK H & qAl W& H
IS @ O W@ & A @
(gwaamﬂwm:

n Y
2) W
3) ~¥%
9 Y

133.

134.

GET IT ON
Google Play

Let a, b and ¢ be positive integers
such that b is an integer. If a, b and
a

c are in geometric progression
and the arithmetic mean of g, b, ¢

is b + 2, then the value of

a®+a-14 .
— " is:

a+l
1) 6
2) 4
3) 1
4) 3

If sum of all terms of an infinite
geometric progression is (%) times

the sum of its odd terms, then
common ratio is :

n b
2) I
3) ~4%
4y Y

% & % oW e / Space For Rough Work
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135.

136.

T {1, 2, {1, 2, 3)} & WeE oK

Tl O & SuE=El & g

T AR o ¥ W B I § dad

UH FETR O A B T 7

1) {1,2}e{l,2{l,2 3}

2) {1, 2}, {1, 2, {1, 2, 3} & IR@
SUEIed ©

3) {1,2,3}411,2,{1,2, 3 & 3@
SIS ©

4) 3e{1,2,{1,2, 3}

T T y = (x), &g P(1, 1) | BB
oA R g P(1, 1) W @b y = f(x)
& AR B FHIBT (x— 1) + (7= 1)
=03 AR & & el off g &
W H gEe, fog # @R &
AR &, A 9 B THHCT ©

) ZL+y25=1

2) F=x

3) -1)°=@x-1)
4) y=e"!

135.

136.

GET IT ON
Google Play

[41/A]

Four statements are given below

regarding elements and subsets of

the set {1, 2, {1, 2, 3}}. Only one of

them is correct. Which one is it ?

) {1,2}e{1,2,{1,2,3}}

2) {1, 2} is proper subset of
{1,2,{1, 2, 3}}

3) {1, 2, 3} is proper subset of
{1,2,{1, 2, 3}}

4) 3€{1,2,{1,2,3}}

A curve y = f(x) passes through
the point P(1, 1). The equation of
the normal at P(1, 1) to the curve
y=fx)is(x-1)+ (-1 =0and
the slope of the tangent at any
point on the curve is proportional
to the ordinate of the point, then
the equation of the curve is :

1) L+y5=1

2) yP=x

3) -1'=@x-1)
4) y=e"!

% & % oW e / Space For Rough Work
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131

138.

Al

: WW%:_VI—}’;’Z gt &

U8 A (family) ® FERA & 2,
[SECI

1) B W T SR 3= (0, 1) W
e B

2) Bt =) ¥ @R 3= (0, -1) W
e B

3) Bem 1 B IR &= x99 &

T B
4) B 1 ® R Fm oyo B

TfesT B

I 6 A THE AR 4 AR b
ST T BT &, al

a-b
0
1) sin|—
) sinf3)

2
2) sin9
3) 2sinH
4) sin 20

TR B ¢

131.

138.

GET IT ON
Google Play

The differential equation
2

d_yzl—y determine family of

dx )4

circles with :

1) Variable radii and fixed centre
at (0, 1).

2) Variable radii and fixed centre
at (0, -1).

3) Fixed radius 1 and variables
centres along x-axis.

4) TFixed radius 1 and variables

centres along y-axis.

If 4 and b are two unit vectors
and 6 is angle between them, then

n

is equal to :

. (6
1) sm(Ej

2) sin0
3) 2sin0
4) sin 20

% & % oW e / Space For Rough Work

[ Level-3/1318]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e/

L X Y3 22 s e

GET IT ON
Google Play

[43/A]

139 139. The equation of the plane passing
-3 2 1 through the point (0, 7, -7) and
7 R 81 AR 78 W@ 0,7,-7) & iy _ x+l_y-3_z+2
containing the line ==
TR, T T B FHET © 3 2 1
is :
1) x+7y+7z=0 1) x+7y+7z=0
2) x+2y+z=1 2) x+2y+z=1
3) x+y+z=0 3) x+y+z=0
4) x+y-z=14 4) xt+ty-z=14
140. 10 BB % T G9€ § & 5 BN & 140. A delegation of five students is to
U amETed sMEr S R OaR be formed from a group of 10
a9 999 8@ U @Y @A dRd @ students. If three particular
Sefh & A9y 8 Tk |y A8 @A students want to remain together
ared %, @ T B R T - whereas two particular students
do not want to remain together,
then the number of selection is :
1) 10 2) 20 1) 10 2) 20
3) 30 4) 35 3) 30 4) 35
141. IR a, b AT c THE B g ©, 141. If a, b and c are cube roots of unity,
e? eza e3a_1 e? eZa eSa_l
eb GZb e3b_]_ = then eb GZb eSb—]. =
¢ ezc esc—l e’ eZc eSc_l
1) 0 2) e 1) 0 2) e
3) e? 4 e° 3) & 4 é°

[ Level-3/1318]
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100
142. | loge x =
10 log, x +log.(110 - x)
1) 90 2) 0
3) 45 4) 110

143. IR/ |z + 1| = V2 |z - 1|, &
z=x+1y,x,y€R a‘r,%ﬁw’rugwa

ﬁzzb'fi%Fg'q?I@Trr:
1) a®™ 2 9d
3) Waad 4) eeq

144. IR @ &9 £ A g 9 TER A
o &, @ f + g & U B8R :
f(x)=x+2,x<0;9(x)=3,x=>0

1) {0} 2) [0, )
3) (=00, ) 4) (=, 0)

145. T g9 @ @i, Al N TR
H A 19 T B AR g faet @

TEE 11 W B gH #@ Y=

A B
1) 12088 2) 2409w’
3) 360@F  4) 1409

142.

143.

144.

145.

GET IT ON
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I].OO ]_oge X =
10 log, x +log.(110 - x)

1) 90 2) 0

3) 45 4) 110

If |z+ 1| =+2 |z - 1|, where
z=x+1y, x,y€ R, then the locus
described by the point z in the
Argandplaneisa:

1) Straightline 2) Circle
3) Parabola 4) Ellipse

If f and g are two functions
defined as f(x) = x + 2, x < 0 ;
g(x) = 3, x>0, then the domain of
f+gis:

1) {0} 2) [0, )

3) (o0, ) 4) (=, 0)

The sum of length, breadth and
depth of a cuboid is 19 cm and the
length of its diagonal is 11 cm. The
surface area of the cuboid is :
1) 120 cm?® 2) 240 cm?
3) 360 cm? 4) 140 cm?
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146. 60 HIX ol Th ARG & OY q TH

141.

AR 3 O R a9 & STE=T B
30° 3K 60° 3@ U ¥| R H JaA
2.

1) 404X
2) 80 HX
3) 60 HeX
4) 20 HeX

el & Tgedl S iR T & fAg SAT
B I A Gl d ®9 H R«
fFTmr e, MAwmASHFRIATH
g, QA a1 § T 8, AUiq SAT =
(SUT) — (SNT)| T A, B 8lR C
W §= & & ANB NnC=(},dR
BAB, BAC &R CAA ¥ uyd% H
el @ e 100 & SSY o
AuBuCﬁHﬁPﬁEﬁM%I

1) 150

2) 300

3) 230

4) 210

146.

141.

GET IT ON
Google Play

[45/A]

From the top of a building 60 m
high the angles of depression of
the top and the bottom of a tower
are observed to be 30° and 60°.
The height of the tower is :

1) 40m

2) 80m

3) 60m

4) 20m

For any two sets S and T, SAT is
defined as the set of all elements
that belong to either S or T but not
both, that is, SAT = (SUT) — (SNT).
Let A, B and C be sets such that
A nB N C={}, and the number of
elements in each of AAB, BAC and
CAA equals 100. Then the number
of elementsin A UB U C equals :
1) 180

2) 300

3) 230

4) 210
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[ 46/

148

149.

150.

Al

. dider 2, 9,9, 3,609, 4 3 fw qre
3 AN AT fEes ®
1) 0 2) 2.57
3) 1.57 4) 3.57
TH TSl 480 km & T TN o
¥ T A 2 IR ZHH I 8 km/h
HH BIdl, O 98 TGl gU B T B
g 3 g¢ IAftp ddn el # oA
H faga @i & w9 A feld
Y
1) x2+8x+1280=0
2) x2-8x+1280=0
3) x2-8x-1280=0
4) x%+8x-1280=0
9T £ 2 (4, 6) — (6, 8) U Bl g,

el f(x)=x+[%},5l€[ [.] FETH Ul
T &, ST IR 1 &7 £ (x) =

1) x—[ﬂ 2)

3) x-2 4)

-x -2

1

Tm

148.

149.

150.

GET IT ON
Google Play

The mean deviation of the data
2,9,9,3,6,9, 4 fromthe meanis:
) O 2) 2.87

3) 1.57 4) 3.87

A train travels a distance of 480 km
at a uniform speed. If the speed had
been 8 km/h less, then it would have
taken 3 hours more to cover the same
distance. Formulate the quadratic
equation in terms of the speed of
the train :

1) x2+8x+1280=0
2) x2-8x+1280=0
3) x2-8x-1280=0
4) x%+8x-1280=0
Let f: (4, 6) — (6, 8) be a function
defined by f(x)=x+ {%} , Where
[.] denotes the greatest integer

function, then f _I(X) is:

1) x—[ﬂ 2)

3) x-2 4)

—x-2
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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